Bro Colton IS 230 Quiz 09: printf

Review for Final Exam

Do NOT write on this test. Record all answers on the bubble sheet. Closed book. No notes. Work
strictly from memory. No calculators. No time limit. Scratch paper okay.

On the following printf questions you are given a list of inputs. For each problem line determine which
printf statement created the accompanying outputs. (, means space.)

Which of these printf statements created the outputs shown for each problem below? (x is int x;)

(A) printf ("Louuuhtduuy”,x) ;5 (D) printf ("Lu%0u6dy",x) 5  (G) printf ("%+8du",x);
(B) printf ("Luuu%h2duun" %) ; (E) printf (",u%05d,,",%x);  (H) printf ("%+94",x);

(C) printf (" h+-4dLuL",%); (F) printf (" }+-84",x); (I) printf("%9d",x);
inputs: 4 -6 1774233140 -1354949764

2/6p. Luw00004, Luu—00006, Luwl774233140,, Lu—1354949764

3/6p. up00004 Lu—0006,, uul774233140 uu—1354949764

4/6p. uutdL Loy uu—BLuLLL uu+1774233140,, uu—1354949764 .,

5/6p. Luuuuuté4y uuuuuu—6u +1774233140, -1354949764,

6/6p- oooot4oon oooo~buun LLLLt1774233140000 LLLLL—1354949764 .,

7/6p. oL u=6LLLLLn u+1774233140 L—1354949764

8/6p. Luuuuuuté Luuuuuu—6 +1774233140 -1354949764

Which of these printf statements created the outputs shown for each problem below? (x is int x;)
(A) printf ("LLuu%03d,", %) ; (D) printf ("Lu%-+3duuu",x);  (G) printf (",%7d",x);
(B) printf ("Luuuhu-3dun",x);  (E) printf ("%02d L0 ,%x) s (H) printf ("%,8d4",x);

(C) printf (" Lu%+05d",x) ; (F) printf (" %07d",x); (I) printf ("%084d",x);
inputs: 4 -1 1561876532 -1082370091

9/6p. ooc4oon oo~ loon Loow1561876532,,, L —1082370091

10/6p. uoyt0004 ,,-0001 1,1 +1561876532 Luuw—1082370091

11/6p. wO4LLuun u-louuuun w1561876532, Ly w—1082370091 LLLuL

12/6p. oot4ooon wo—luouy wut1561876532,,  Lw—1082370091

13/6p. 00000004 -0000001 1561876532 -1082370091

]-4/6p' [ ]l |4 [} |_1 |_|1561876532 _1082370091

15/6p. ,0000004 [,-000001 1561876532 1,—1082370091

16/6p' [ ]l |4 [} |_1 |_|1561876532 |_|_1082370091

Which of these printf statements created the outputs shown for each problem below? (x is int x;)

(A) printf ("Luuuuh2duy",x) 5 (D) printf ("Luk7d",x) ; (G) printf ("%,9d",x);

(B) printf ("Luu%k0+5d,",x) ; (E) printf ("u%u03duuuun"»%x);  (H) printf ("%+06d,.u",%) ;

(C) printf (", %6d,",x); (F) printf (", h+7d,",%); (I) printf ("%-+8d,",x);
inputs: 4 3 1686422372 -1245896144

]-7/6p' (]l |4 [ ]l |_3 |_||_|16864223'72 |_||_|_]'245896144

18/6p' |_||_||_||_||_||_|4|_||_| |_||_||_||_||_|_3|_||_| |_||_||_||_||_|1686422372|_||_| |_||_||_||_||_|_1245896144|_||_|

19/6p' +4| [ ] _3| [ ] +1686422372|_| _1245896144|_|

20/6p. wuO4uuunn L 038Luuun LL1686422372 Ly L—1245896144 0L

21/6p. +00004,,, -00003_,,, +1686422372, ., -1245896144,,,,

22/6p. voooout4y oouoww—3n ut+t1686422372 1—-1245896144,

23/6p' (]l |4 [ ]l |_3 U1686422372 _1245896144

24/6p voooooe4y woooow—3n LL1686422372,, Luu—1245896144,
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Which of these printf statements created the outputs shown for each problem below? (x is char * x;)

(A) printf ("Luuuuhsun",x) ;
03)Printf("uuuuzlsuu",x)§
(C) printf ("Luu%-2suu",X) ;

(D) printf ("Luuklsuun",x);
(E) printf (",u%3suu",x);
(F) printf ("L %4s,",%);

(G) printf ("Lh-4suu",%);
(H) printf ("u%suuuuun" %) ;
(I) printf ("%-7s",x);

inputs: " “g? “yg” “cbhz” “ydpxly” “bifzpkhw”
25/6p- I I T W W W W T T LuuVZay uucbhz Luydpxlyon uubffzpkhw,,,
26/6p. uuuLuuL wZuuouun uVZooooou  uCbhZynuuon uydPX1Yuuuuuu ubffzpkhwuuuuuu
27/6p- [ I I I I N T W W (W A W1 LuuVZay uuucbhzy Louydpxlyun uuubffzpkhw,
28/6P- [N IR T R W W W AW uuuuVZyy uuuucbhzy pwuuuydpxlyuy wuuubffzpkhw
29/6p. (T [T W W W MR AN uuuuVZy uucbhzy Luydpxlyy uubffzpkhwy,
30/6p. uouuuan Zuuuuag VZyuuuu cbhz ydpxlyy, bffzpkhw

Which of these printf statements created the outputs shown for each problem below? (x is char * x;)

(A) printf ("uuuksuu",x) ;
(B) printf ("uu%lsuu" ’X) H
(C) printf ("uu%2su", %) ;

inputs: 7 “f”
31/6p. vooon woufo
32/6p- ooon wofon
33/6P- pooon uofoon
34/6P- pooon oo
35/6P- pooon ufoog

(D) printf ("Luksuun" %) ;
(E) printf (",%-3su",%);
(F) printf (" %-4s",x);

«jf7 “hxfh” “Ibffwy”
uujfu uubxfby uulbffwv,
wujfuu uubxfbyy wulbffwvyy
vojfoun  wobxfbuun wulbffwvyyy
Jfuuu bxfb 1bffwv
uifuu ubxfb, ulbffwv,

(G) printf ("LhlsLuu",%);
(H) printf ("%-2s,uu",%) ;
(I) printf ("%-5s",%);

“Jychpbjq”
uujychpbjqu
uujychpbjquu
uujychpbjquu
jychpbjquuu
ujychpbjqy

Which of these printf statements created the outputs shown for each problem below? (x is double x;)
(D) printf ("Lu%010.2f,," , %) ;
(E) printf ("|_|°A,+1O . Of|_||_||_|" ,X) 5

; (F) printf(",%013.0f",x);

(A) printf (", %+12.2f",x) ;
(B) printf (" h+12.4£",x);
(C) printf (" ,%h0+10f " ,x)

inputs: 9
36/6p. 10000009. 00,
37/6p. 1,0000000000009
38/6p. uut09.000000,
39/6p. Luunuaut9 . 0000
40/6p- LuuuuuuoutOuun
41/6p. +00000000009, 4

-1.5
uu—000001.52
1,—000000000002
Lu—01.520000.,
uuuuouu—1.5200

uuuuuuuuu_2uuu

-00000000002,,,

[\)

-1.1322

Lu—000001 .13,
1,—000000000001
uu—01.132200.,
wouuouu—1.1322

uuuuuuuuu_luuu

-00000000001,,,

(G) printf ("%+012.0f,.,",x);
(H) printf ("%+014.4f",x);
(I) printf("%14.0£f",x);

-40370.809475
Lu—040370.81
1,—000000040371
Lu—40370.809475,,,
Luu—40370.8095
uuuuu_40371uuu
-00000040371 4,

Which of these printf statements created the outputs shown for each problem below? (x is double x;)

(A) printf (",,%+010.6f,",%);
(B) printf (",,%010.0f,,",%);

(C) printf (" %h11.2f,",%);

inputs: 3
42/6p. uuut03.000000,,
43/6p. +0000000003.00
44/6p. +0000000000003
45/6p. 10000000003y,
46/6p- Luuuuuuuu3 .00y
47/6p. uuuun3 . 000000,

Total points 282.
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(D) printf (" u%12.2f",x);
(E) printf (",%012f,",%);

(F) printf (" %12.6f,",x);

-3.3
Luu—03.320000,
-0000000003. 32
-0000000000003
Lu—000000003,

uuuuuuuu_3-32u

uuuu_3.320000u

[\)

7.5829

Luuut07.582900,,
+0000000007 .58
+0000000000008
Lw0000000008,,,

I_II_II_II_II_II_II_II_II_I7 . 58I_I

uuuuu’ - 582900y,

(G) printf ("%0+14.0f",x) ;
(H) printf ("%0+14.2f",x);
(I) printf("%014.2f",x);

-35476.901529
LuL=35476.901529,,
-0000035476.90
-0000000035477
Lu=000035477
LuLL—35476.90,
L—35476.901529,,
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